
EN
G

IN
ES &

 PA
R

TS

163

www.bigwsales.com

Stockton, CA 
800-922-7253

Fresno, CA 
800-532-0253 

Yuma, AZ 
800-752-2636

Salinas, CA
844-755-2410

Stockton, CA 
800-922-7253

Fresno, CA 
800-532-0253 

Yuma, AZ 
800-752-2636

Salinas, CA
844-755-2410

Stockton, CA 
800-922-7253

Fresno, CA 
800-532-0253 

Yuma, AZ 
800-752-2636

Salinas, CA
844-755-2410

Stockton, CA 
800-922-7253

Fresno, CA 
800-532-0253 

Yuma, AZ 
800-752-2636

Salinas, CA
844-755-2410

MODEL DESCRIPTION

HONDA GX100 SERIES
GX100QA2 3 HP 5/8" Standard - Keyed Shaft 

Engines, Parts & Accessories

MODEL DESCRIPTION

HONDA GX120 SERIES
GX120K1QX2 4 HP 3/4" Standard - Keyed Shaft
GX120K1HX2 4 HP 3/4" 6 to 1 Gear Reduction
GX120K1TX2 4 HP 5/8" Threaded Shaft

GX120 

MODEL DESCRIPTION

HONDA GC160 SERIES
GC160QBC 5 HP 3/4" Standard - Keyed Shaft 

GC160GX100 GX630 & GX690

MODEL DESCRIPTION

HONDA GX160 SERIES
GX160K1QX2 5.5 HP 3/4" Standard - Keyed Shaft
GX160K1QE2 5.5 HP 3/4" Electric Start
GX160K1HX2 5.5 HP 3/4" 6 to 1 Gear Reduction
GX160K1TX2 5.5 HP 5/8" Threaded Shaft

MODEL DESCRIPTION

HONDA GX200 SERIES
GX200QX2 6.5 HP 3/4" Standard - Keyed Shaft
GX200K1QE2 6.5 HP 3/4" Electric Start
GX200TX2 6.5 HP 5/8" Threaded Shaft

MODEL DESCRIPTION

HONDA GX270 SERIES
GX270QA2 9 HP 1" Standard - Keyed Shaft
GX270QAE2 9 HP 1" Electric Start
GX270HA2 9 HP 1" 6 to 1 Gear Reduction 
GX270PA2 9 HP 1" Threaded Shaft

MODEL DESCRIPTION

HONDA GX120 SERIES
GX390K1QA2 13 HP 1" Standard - Keyed Shaft
GX390K1QAE2 13 HP Electric Start (3 amp)
GX390HA2 13 HP 1" 6 to 1 Gear Reduction 

MODEL DESCRIPTION

HONDA GX630 AND GX690 SERIES
GX630RKZB31 20 HP Electric Start (17 amp)
GX690RTXA2 24 HP Elelctric Start (17 amp)

MODEL DESCRIPTION

HONDA GX120 SERIES
HC-654270 High Mount - Left
HC-654280 High Mount - Right
HC-654290 Side Mount

Must be sold with OEM pumps

PowerPro Engines
MODEL DESCRIPTION

HYPRO POWER PRO ENGINE
2541-0045 6.5 HP 3/4" Keyed Shaft
2541-0046 6.5 HP 5/8" Threaded Shaft 2541-0045



Stockton, CA 
800-922-7253

Fresno, CA 
800-532-0253 

Yuma, AZ 
800-752-2636

Salinas, CA
844-755-2410

Stockton, CA 
800-922-7253

Fresno, CA 
800-532-0253 

Yuma, AZ 
800-752-2636

Salinas, CA
844-755-2410

EN
G

IN
ES

 &
 P

A
R

TS

164 Stockton, CA 
800-922-7253

Fresno, CA 
800-532-0253 

Yuma, AZ 
800-752-2636

Salinas, CA
844-755-2410

Stockton, CA 
800-922-7253

Fresno, CA 
800-532-0253 

Yuma, AZ 
800-752-2636

Salinas, CA
844-755-2410

MODEL DESCRIPTION

BRIGGS & STRATTON 550 SERIES
E3 3.5 HP 3/4" Keyed Shaft
E3T 3.5 HP 5/8" Threaded Shaft

MODEL DESCRIPTION

BRIGGS & STRATTON 900 SERIES
E5 5.5 HP 3/4" Keyed Shaft
E5T 5.5 HP 5/8" Threaded Shaft
E5 6:1 GR 5.5 6 to 1 Gear Reduction

E5

PART NO DESCRIPTION

BRIGGS & STRATTON ENGINE PARTS
497830 Recoil Starter
591301 Starter
690101 Starter
693394 Starter
790968-FT Starter Rope
796112S Spark Plug
591309 Carburetor
591299 Carburetor
790268 Carburetor
495606 Carburetor Overhaul Kit
790172 Cover - Air Cleaner
795333 On/Off Switch
692317 Hose Connector
272996 Fuel Tank Gasket
273113S Fuel Tank Gasket
273356S Filter - A/C Foam
491588S Air Filter
696264 Retainer - for 4915885
697029 Filter - A/C Cartridge
790166 Filter - A/C Cartridge
271794S Pre Filter

PART NO DESCRIPTION

HONDA ENGINE PARTS
28400-ZH8-013YA Starter
28400 ZOT-0032B Starter
2800-ZE2-Wo2ZN Starter
2800-ZE3-WO2ZP Starter
31-260 Starter Rope
28451-ZH-003 Retainer - Starter
28451-ZH-013 Retainer - Starter
98079-56846 Spark Plug
30500-ZE1-073 Ignition Coil
16100-ZF6-VO1 Carburetor
16100-ZH8-W51 Carburetor
30500-ZJ1-023 Ignition Coil
30500-ZJ1-845 Ignition Coil
30500-ZJ1-023 Ignition Coil
15520-ZE1-003 Alert Unit Oil
15655-ZJ1-000 Alert Unit Oil
15620-ZG4-910 Alert Unit Oil
19511-ZE1-000 Cooling Fan
19511-ZE2-000 Cooling Fan
17620-ZOT-813 Cap - Comp Fuel Filter
18310-ZF1-000 Cap - Comp Fuel Filter
18320-ZF1-H51 Protector - Muffler
18320-ZE2-W62 Protector - Muffler
30700-ZJ1-841 Spark Plug Boot
34150-ZH7-013 Oil Pressure Switch
36100-ZE1-015 Engine Stop Switch
17210-ZEO-505 Air Filter (3.5 - 4.0 HP)
17210-Z4M-8H Air Filter (5.0-5.5 HP)
17210-ZE2-822 Air Filter (9 HP)
17210-ZE3-505 Air Filter (11.0-13.0 HP)
17210-ZJ1-000 Air Filter
17210-ZJ1-842 Air Filter
17211-ZL8-023 Air Filter
17216-ZJ1-000 Retainer - Air Filter
17620-ZH7-023 Fuel Filter
17620-Z4H-030 Fuel Filter
17620-ZL8-023 Fuel Filter
17620-ZOT-813 Fuel Filter
17672-ZE2-WO1 Fuel Filter
17673-893-000 Fuel Filter
18310-ZF1-000 Fuel Filter


